: T ou want'? < Is %
The best passive form of the asuiert™ (b) What was wanted by you?

‘What do ¥
) What was wanting by you? (d) What is wanting by you? .,
(¢) What is wanted by you? : ’
‘Let her sing a song’ passive form is - (b Let a song be sang by hch!m
1g by her sung by her
::; ‘l:z: : ::::: :":1;‘;;3?"; ()-LoL¥ sm;%h‘ie sfntznce "I cam recit dn;
\/ Which one of the following is the correct passive form © ¢ the
. ch o (L]
il The poem could be recited by me 3
itati : i ‘ble by me (b) Thep poss
(©) ?lec“a‘m“ Zf tll::rz.z;:;ll:; ::-lses mieny (d) Recitation of the poem cane Cffnrmc(m
< he poem can o . : ‘
4, Which :;ne of the following is the correct passive sentence: edical-2011.24

(a) The signal was opened by the traffic police. .

(b) The signal is being opened by the traffic pOllC?.
(¢) The signal was being opened by the traffic polllce.
(d) The signal was to be opened by the traffic police.

Aﬂi; h
- —
\/./ Passive form of “Take care of your health” Medical-2006-20q

(a) Let your health taken care. (b) Let your health be taken care of.

Health is taken care by you. i
c) Let you health taken care of. (d) . - Ans: p
\}/Srhe teacher made him go outside of the class.” w67 3T passive voice = =3

(a) He was turned out of the class by the teacher. Medical-2004-20q5
(b) He was made to go outside of the class by the teacher.
(c)-He had go to outside of the class made by the teacher.

(d) He was made outside of the class by the teacher. Ans: b
~ «It is known to me how it was done by him.” active voice T
(a) I know how he has done. (b) I knew how he has done.
c) I know how he did it. (d) I knew how he did it. Ans: ¢
\ «“He decided to sell the house”a® IGa 53F passive voice TFG?
(a) It was decided by him to sell the house (b) He decided that the house shall to sold
\/(c)) He decided that the house is sold (d) He decided that the house is selling  Ans:a
" Who opened the door?®= passive I3 tFHG?
(a) By whom was the door opened? (b) The door was opened by whom?
) By whom the door was opened? (d) By whom was opened the door? Ans:a
\l/'lfransform into passive voice- “I play football.” Medical -1997-1998
(a) Football is played by me. (b) Football has been played by me.
¢) Football is being played by me. (d) Football was played by me. Ans: a
~  Passive form of “I had already shown her photo to the policeman™
(a) The policeman was already shown her photo. Bangladesh Krishi Bank (S0)-2017

(b) Her photo was already been shown to policeman.
(c) The policeman had already been shown her photo.

(d) The policeman have already been shown her photo. Ans. d

12. The correct passive form of “Does he speak English well?” is m N

(a) Is English spoke well by him?

‘ (b) Was English spoken well by him?
(¢) Is English spoken well by him?

(d) Is English spoken well to him?
42 =
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" 1377 Choose the correct passive sentence: A D Ho> bul Mlaysen
(a) The meeting is to rescheduled (b) The meeting to be rescheduled
The meeting is to be reschedule (d) The meeting is to be resche Ans: d
- The best passive form of the sentence 'what do you want?’— Isb/ ﬁ%m"
(a) what was wanting by you? (b) what is wanted by you? .
(c)what was wanted by you? (d) what is wanting by you? Ans: b
\Lﬁ./ The news will please you. Change the voice: D.U (IER) 2009-10
(a) You will be pleased by the news (b) You will be pleased with the news
(c)You may be pleased by the news (d) You shall be pleased by this news Ans: b
\VThe correct passive form of '"We don't like idle people’ is
(a) We are not liked by Idle people (b) Idle people are not liked us
¢) Idle people are not of our liking (d) Idle people are not liked by us Ans: d
1 The passive of “Who taught you French?” is -
(a) By whom you were taught French? (b) By whom French was taught you?
French was taught you by whom? (d) By whom were you taught French?  Ans: d
\L/\:hich one is the correct voice of “Who will help you?

Jahangirnagar University (2014-15)/D.U (C-Unit) 2001-02
(a) By whom will you be helped? (b) By whom will you be helped?
(c) Who will be helped by you? (d) By who you will be helped? Ans: a
\yﬁassive form of “Who taught you English?”
(a) By whom you were taught English? (b) By whom English was taught to you?
(c) English was taught to you by whom? (d) By whom were you taught English? Ans:d
Correct passive form of — ‘I have to do it’
(a) It has to be done by me - (b) It is to be done by me. ~.
(c) Let it be done by me. (d) It has to be done to me. Ans: a
~ “Has Moni finished her work?” The passive form of this sentence is
(a) Moni her work finished by Moni? (b) Moni has finished her work?
(c) Has her work been finished by Moni? (d) Her work has been finished by Moni. Ans: ¢
272. ‘He taught me to read Arabic’ 353 Passive form =37 22T ST=T FrFg -2016

(a) I was taught by him to read Arabic

(b) I have been taught by him to read Arabic

(c) I have been taught by him to read Arabic -

(d) I was being to taught by him to read Arabic Ans: a

\,23./ Do you find you payment too little? (Passive) ‘B‘é) 6{,"9

(2) Is your payment found too little to you?

(b) Are your payment found little to you? @ é\/} 7 Qﬁ
(c) Are your payment found too little by you? ) k\h Lo
(d) Is your payment found too little by you? \(' Ans: a

7 I know that he did the work- -2 13 STzl e Mo <« @s-201 .

(a) It was known to me that the work had been done by him

(b) It was known to me that the work was done by him

(c) It is known to me that the work was done by him

(d) It was known to me that the work has been done by him Ans: ¢
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2+ Which one is the correct passive form of sentence - ‘He untlsed evervhody’?
(a) F"‘“")'bﬂdy has been satisfied by him SOBI EPIABIA @B [FTAHKA 14177 (NJ o
(b) LEverybody was satisfied by him
) Everybody was satisfied with him

(d) Everybody would be satisfied at him
. Chan

Ans;
ge the'voice, “It is impossible to do this”. _ M
\/JDoing this is impossible (b) This is impossible to be done
(

¢) This must not be done
- The house is building. The passive from is
(a) A house is being built by us.
“1tis the house which is being built
Change the voice: “Where did you sec him?
1ere did he seen by you?
(€) Where was seen by you?

(d) Where was he seen by you? Ans: d
¢ ‘Shut the door® By Passive form =3 ¢ m
\/L{*he door is no be shut

S5 - 03y,
(b) The masons are building the house.

(d) The house is being built. Ans: 4
ARFCHT “0 FAATST AT 303,
(b) Where was he see by you?

(b) The door may be shut
¢) Let the door be shut

(d) Let the door shut Ans:
The best passive form of the sentence “The pill tastes bitter” is:

The pill is bitter when it is tasted.

(b) The pill was bitter when it tasted. Ans: a
(¢) The pill is bitter when it tastes.

(d) The pill was bitter when it was tasted.
3). The active form of ‘“Why wasn’t the matter brought to my notice’?
(a) Why didn’t you

bring the matter to my notice? m
'~ (b) Why you did not bring the matter to my notice?
(¢) Why don’t you bring the matter to my notice?
d) Why is the matter not brought to my notice?
Choose the correct passive voice of “BBC broagcast the breakin o news.”
(a) The breaking news was broadcast by BBC
(b) The breaking news are broadcast by BB(c) ~
The breaking news is broadcasted by BBC
(d) The breaking news were broadcasted by BBC
- ‘I heard her sing’. Passive form of the sentence is ---
(a) She was heard to sing by me
(¢) He was heard sing by me.
4. Passive form of ‘I shall be obliged to go’.
(a) I shall be obliged by someone to go.
Circumstances will oblige me to go.

Islamic University (2015-2016)
(b) She was heard sing by me

(d) She was heard sang by me Ans: a
Jahangirnagar Uni.(2010-11)
(b) 1 shall oblige to go. Ans: a
(d) Circumstances will be obliged by me to go.

35 Passive form of ‘My captors were taking me to prison.’ JahangirnagarU.2010-11
) I have been taken to prison by my captors. (b) I was taken to prison by my captors. Ans: d
(¢) I had been taken to prison by my captors. (d) T was being taken to prison by my captors.
Choose the passive form of 'Somebody will clean the office tomorrow". lmmlmlﬂ
( 1e office must be cleaned tomorrow (b) The office has to be cleaned tomorrow
(c¢) The office should be cleaned tomorrow (d) The office will be cleaned tomorrow Ans: d

I had been doing the work for five days. Change the voice.
(a) The work had been being done by me for five days.
(b) The work had been doing by me for five days.

@ (¢) I had been done the work for five days.

=5, ‘5, (d) The work had been done by me for five days.
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jshahi Uni.(2015-2016)

Ans: a
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(a) Hard feels by 1ron
(¢) Iron is hard by it is felt

(a) Does cricket played by Sohel?

¢) Is Sohel played by cricket?
\fﬂ./fl"hc correct passive from of ‘He invited me to go” is -

(a) I was invited to go
(c) T am invited to go

. Passive voice of “Don’t neglect the poor.”

(a) Let not the poor neglected

Let the poor be neglected
4 Change the voice ‘He is thought to be a poet by them.’

(a) They think to him to be a poet

¢) They thought him to be a poet
. 'Who has done the work? The correct passive form-

10 is the work done by?
By whom has the work done?

(@)

(a) The pill is bitter when is tasted

) The pill 1s bitter who it is tasted
457 The passive form of the sentence, '"The trainer walked the horse after the race' is:
(a)The horse walked after the race by the trainer Rajshahi Uni. (2009-10)

Choose the correct passive form of the sentence: Iron feels hard.

he correct passive voice of The pill tastes bitter. .

..... Win the World

(b) Iron was hard

What is the passive form of “Does Sohel play cricket?

(d) Iron is hard when it is felt Ans: d
(b) Does Sohel played by cricket?
Ans: d

(d) Is cricket played by Sohel
Rajshahi University (2015-20106)

(b) I am being invited to go
(d) I was being invited to go

Ans: a

Rajshahi University (2014-15)}

(b) Poor don’t be neglected Ans: d

(d) Let not the poor be neglected

Rajshahi University (2014-15
(b) They think him be a poet
(d) They think him to be a poet

Ans: d

(b) The work has done by whom?

(d) By whom has the work been done? Ans:d
(b) The pill’is bitter when it is tasted .

(d) The pill is bitter them is tastes Ans: b

(b) The horse had walked after the race by the tramer

(a) He was helped to do by me.

) I helped him doing
47 "]t is time to shut up the shop". The passive form is-

.(a) It is time to be shut up the shop

V((f) It is time for the shop to be shut up.
. “How can you do this?” Make it passive

(a) How could this be done by you?
¢) How this can be done by you?

(a) We was made the work by him.

(c ork were made by him to us.
50. Who is doing the work? passive is_
(a) By whom is the work being done?

) By whom was the work being done?
5 He said, “Thanks my friends” — the indirect form is
(a) He thanks his friends (b) He thanked his friends

(c) He told his friends thanks ‘”

he horse was walked after the race by the trainer
d) The horse had been walking after the race by the trainer.
Which one is the passive voice of "I helped him to do"?

The passive voice of “He made us work™ is__
(b) Work was made by him for us.

Ans: ¢

Rajshahi Uni: (2003-D9)

(b) He was done by my help

(d) He was helped by me.

(b) It is time to shut the shop up

(d) It is time the shop be shut. Ans: ¢
Rajshahi Uni. (2003-04)

(b) How can this be done by you?

(d) How can this has done by you? Ans: b

Rajshahli Uni. (2002-03)

(d) We were made the work for him. Ans: b

Ra).U.(2005-06)/ &S FT=2ar £Hree fHeami-3d

(b) By whom is the work done?
(d) By whom the work is being done? Ans: a

Rajshahi Uni. (2005-06)

Ans: b

(d) He said to his friends thanks

Ans: a >
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. Passive form of the sentence «wNever catch the Jatka” Intks sver be ot
1 et the Jatka never be caught (b) Let not the Ja b by vt p
(¢) Never the Jatka caught be you (d) The Jatka 18 caugh )mﬁ
Passive form of-""Let us go, you and 1I” ' .
(a) Let’s you and I, are gone (b) Let’s O then, should we? i
(¢) Let you and 1 be gone (d) You and I should go no
4. The passive form of sentence “Tell him to go’ Islamic Uni. (2004-05
(a) Let him be told to go (b) Let his tell to be gone
et he be told to go (d) Let him told to g0
55" The passive form of “Abdul was to do the work” is--
(b) The wo

(a) The work was to do by Abdul
(d) Abdul was

¢) The work was to be done by Abdul

"The old sailor stopped the guest". The best passive form will .be - ol sl

(a) The guest has been stopped by the old sailor (b) The guest was being stopped by the o sailor
(d) The guest was stopped by the old sailor  Ans: d

(c) The guest is stopped by the old sailor

\/7./ Active form of ‘By whom can our country be saved?’ -
(b) Our country has been saved by who?

Ans: a

(a) Who can save our country?
(c) Who will save our country? (d) Who save our country?
€.  Which is the correct passive form of the following sentence? m

"Workers packed the biscuits into boxes.'
(a) The biscuits were packed into workers by the boxes.

(b) The biscuits were packed into boxes by the workers.
(c) Workers pack the boxes into biscuits.
Ans: b

(d> The boxes are packed into biscuits.
59. d the ability of the judge’ National Uni. (2006-07)

Leapt English

Ans: a

rk had to be done by Abdul
to be done by the work  Ans:c

Passive form of- ‘He teste
(a) He tested the judge’s ability (b) The judge tested his ability S
f the judge he tested. Ans: c

@  (¢) The ability of the judge was test

ed by him (d) The ability o

60 “They are putting the horse in a stable” Correct passive form-
(a) The horse is put into a stable (b) The horse has been put into a stable
(d) The horse is being put in a stable Ans: d

(¢) The horse will be put into a stable
1. Active form of ‘It must have been stolen by him’ is - National Uni. (2006-07)

(a) He must have stolen it. (b) He must have been stolen by it.
. Ans: a

(c) It was stolen by them. (d) They must steal it
\/ Active voice of the sentence? ‘This can be done today by them’.
(a) Can they do it today? (b) Has this been done today by them?
(c) Are they able to do it by today? (d) Can this be done today by them? Ans: d
vﬂ./ Passive form of - ‘Lord knew what they cost?
(a) What they were cost was known to lord (b) What they cost’s known to lord

(c¢) What they are cost was known to lord (d) What they cost was known to lord Ans: d
here”. Islamic Uni. (2005-06)

4. . Change the voice of “Nobody knows him
(a) He is known by nobody here (b) Nobody knows him here
(c) He is not known here (d) He is known to nobody here Ans:
Islamic Uni. (2004-05)

«J saw the boy coming. Make the sentence passive”
(b) The boy was seen coming by me

(a) The boy was seen by me coming
(c) The boy seen coming by me (d) I was seen by the boy coming

=

o

Ans:
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\(fﬁ Correct passive of, “Who will do the work?* m

- s work? )
a) Who will done the work? () Who will be done the work?

() By whom will the work be done? (d) By whom the work will be done” Ans: ¢
‘he correct passive of “Does he write a letter? m

a) ]sra letter to be .\vn'ﬂcn hy him? (b) Has a letter been written by him?
(c) Was a letter written by him? (d) Is a letter written by him? Ans: ¢

The Passive Voice of *‘Did Samira do the work? js--—-

(a) Is the work by Samira? (b) Was not the work done by Samira?

(c) Was the work by Samira done? (d) Was the work done by Samira? Ans: d
_ Icalled him a fool. (make it passive) Islamic University (2015-2016)
(a) He called me a fool. (b) Did I call him a fool?
¢) A fool was called him by me. (d) He was called a fool by me. Ans: d
Make the sentence passive: 'Farjana's work pleased me'
(a) I was pleased by Farjana's work (b) I was pleased with Farjana's work
(¢) We were pleased by Farjana's work (d) Farjana's work was pleased by all Ans: b

1. / Which of the following has the passive form?
(a) Some new buildings build by the authority.
(b) Some new buildings were being built by the authority.
c) The authority was building some new buildings.
(d) Some new buildings built by the authority. Ans: b
72/ The correct passive form of "I saw him go to the garden" is
(a) He was seen go to the garden. (b) He was seen to go to the garden.

e was been seen to go to the garden. (d) He went to the garden was seen.
e) None of these are correct. Ans: b

National Uni. 2011-12

Select the correct change of voice of the following sentence. His pen has been stolen. ;
(a) He has stolen his pen. (b) They stolen his pen.
(c) Someone has stolen his pen. (d) You stolen his pen. Ans: ¢
747 Passive form the sentence - "I saw him reading a book."
(a) I saw that a book was read by him. (b) He was reading a book seen by me
= (c) He was seen reading a book by me. (d) I say him that a book was read
(e)He was reading a book that seen by me. Ans: ¢
ho planted this tree here’? The correct passive voice of this sentence is-

By whom the tree was planted here?
(b) Who the tree had been planted hereby?
(¢) The tree was planted here by whom?

d) By whom had the tree been planted here? Ans.blank
W Passive form of ‘My teacher embodies all the good qualities.’ 27""BCS
(a) All the good qualities are embodied by myteacher

(b) All the good qualities are embodied in my teacher
(c) All the good qualities are embodied to my teacher

() All the good qualities are embodied on my teacher Ans: b
dentify the correct passive form of “He is going to open a shop” 26'" BCS
(a) He is being gone to open a shop. (b) A shop is being gone opened by him.
(e) A shop will be opened by him. (d) A shop is going to be opened by him. Ans: d
487 APEX
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_ Choose the correct form (passive) of ‘Who wlll(::? 2ot 911 donie the work 7 m

(a) Who will be done the work ? ) Whom it the sk e dons 7 -
(¢) By whom will the work be done 2 ( )lndow.” |
0.  1dentify the correct passive form: «Qpen the W e indow be ] m

) The window should be opened. (b) B st be oned. )
i be opened by you. (d) The windo ] -
form of ‘#0 unded man

(c) Let the w
The passive form o
(a) The wounded man
(b) The wounded man was
(¢) The wounded man was
d) The wounded man was t
Passive form of- ‘People always remem
(a) The patriots will always be remembered by people

(b) The patriots are always being remembered

(c) People are always remembered by the patriots

(d) The patriots are always remembered by the people. dﬂg__g
Which one is the correct passive form of the centence— '"He satisfied everybody.'?

were helping the wo
e children
hildren

f *some children
was helped by som

helping some € '
being helped by some children

o be helped by some children
ber patriots.’

(a\)\
A
3
;.

b

(b) Everybody was satisfied by him.

(d) Everybody would be satisfied at him. z
<Give the order’? EINEEICKESIC FEITE FHFS-2030

(b) Let the order be given

(d) Let the order give Ay

(a) Everybody has been satisfied by him.

(c) Everybody was satisfied with him.

What is the passive form of the sentence-
a) Let the order to give

(c) Let the order to given

‘Let him be told to go’ change the voice-

(b) Let you go

(a) Go
: you go ) (d) Tell him to go .
7 he house is building. The passive form is -

(a) A house is beeing built by us (b) The masons are building the house.

(c¢) It is the house which is being built (d) The house is being built. Tz B
'I::)le \;{)}::(s)s‘i:: \{)oic]f of “Who has broken the glass?” is NK‘N ASTES ﬁ?ﬁ_ﬂ-io) 31
v (i ns:l h;os :;:lr; thle glass? (b) By whom has the glass broken? r
g7/ ) glass been br({ken‘? (d) By whom was the glass broken? Ans:
passive form of the sentence “Enter the house by this gate' is SISN ASES [FaF .

) you are requested to enter the h i

ouse by this gate
(b) you should enter the house by this gate =
(c) let the house be entered by this gate

o &)}l{et tl'le house be entered by you by this gate

: ich is the correct passive form of the sentece? "He is writing a letter" =L
E:)) j\\ lletter is written by him b)Y A letter s:a _T"F‘ G‘f@@? T2 SAl-303¢

s etter was being written by him (d) A letteris b ‘_“'ltten. by him
| (:nl()";..:etct Pagswe form of , “Buy me a pen” r is being written by him T d
et me buy a pen -
(b Let < =02V

(c) Let a pen be bought by me @) Lot mea. pie:xbb(::uf = :l):r o
: ought Ans: b
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